
D
R

AW
IN

G
S

 N
O

T 
TO

 S
C

AL
E

©
 2

0
0
5
 C

.M
.T

. 
U

TE
N

S
IL

I S
.p

.A
. 
  
  
 0

3
.6

0
.0

2
0
2

•
Th

e 
be

ar
in

g 
ite

m
 n

um
be

r 
in

cl
ud

es
 t

he
 r

ed
uc

erRabbeting Sets
Assembly instructions for items

1-3/8" bearing 791.016.00•1-1/8" bearing 791.014.00•22 mm bearing 791.017.00•

3/4" bearing 791.019.00•

screw 990.058.00

5/8" bearing 791.018.00

1/2" 
RABBET

3/8" bearing 791.002.00 1/2" bearing 791.003.00

www.cmtutensili.com

screw 990.058.00 screw 990.058.00

screw 990.058.00

	Order No.	 Shank	 Cutting length	
835.001.11	 Ø1/4”	 Ø1/2”	
835.501.11	 Ø1/2”	 Ø1/2”	
835.502.11	 Ø1/2”	 Ø3/4”

	Order No.	 Shank	 Cutting length	
735.001.11		 Ø6mm		 12,7mm	
935.001.11		 Ø8mm		 12,7mm	
935.501.11		 Ø12mm		 12,7mm	
935.502.11		 Ø12mm		 19mm

heat shield to be assembled raised side up

screw 990.059.00

washer 541.552.00

1/2" reducer 799.014.00

FLUSH TRIM1/8"
RABBET

washer 541.552.00

1/2" reducer 799.014.00

screw 990.059.00

washer 541.552.00

8 mm reducer 799.017.00

1/4"
RABBET

screw 990.058.00

5/16"
RABBET

reducer 799.019.00

3/8"
RABBET

7/16"
RABBET

heat shield 990.422.00 heat shield 990.423.00


